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Note: T'his question paper contains tu,o parts A and B.

l.a) What are statichazards and how it can be eliminated?

i ' ,, r ;i 6ii,;oil;,;;;iu,#ht";;"*"'r,-i- i ," 'i "... 
t.........' d) Defrne..&tult deteition'bnd redundancy. i .-i i ':. i...--....i

e) Write about bridging faults.
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(Ernbedded S1'stems)

Part A is compulsory which carries.25 marks. Answer all questions
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Fiad a dircuit thaf ha-i no"stotic haiarftsa
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With respect to an asynchronous sequential machine, explain about minimal closed
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OR
Explain about the finding a minimal cor.er using a prime-impiicant table.
The response of the machine shown in tabie 1 below to an un kno*,n input sequence is

Biyo to-the expelimenter:, Devise;a procedure tha! the experimenter r,Eay"use in orde1.to 
,

ldeptr..fi,'1he initial'stat6:-'What are..thg nrihimum-lang,th,,sequences fiat wilTrmake such an "r.
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Table 1
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1.a)
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i'l'ith the help of neat biock ciiagram, explain .*:iking of iterative n-bit con'iparator.
\\-ith necessary timing diagram, state machine and state table, explain steps for anal.vzing

it using flip flop and
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4-a)
b)

is.a)
b)

clocked synchronous state machines.

i..-i--_, !,'1..""-: i.-,OR i i,''i i -,""',
Rializi"mtt-adderusing 3'8 line oecoaei"Iia rwo NoR ggtes ,''. , ,

Oesign-8-Uit priority 
"riCod". 

using PAL20L8 pLD device.

Obtain the SM charts for muitiplier controller and realize
cornhinational circuit.

OR
Dr4w,th9 ASM chprt..to. detect the- over.lapping
stream and output 1 for'ehch detectign. ::'':'

Ex:x:t010l0i0llQ-'-'-:'--- i 1 i'
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lmplement the controller circuit using MUX method.

single sfuck-at fault models and bridging fault models.
OR

With rhe help of an example, expiain PODEh{ algorithm. ll0]
*-.'i]--..,.:_jJJ.1ORi....'.'.'
Etiatiis,,fte signifiqince,of Koha.*iAlgorittrm: Explain,how it detects multiple faults in a
nr,-o-levs{ networks with.a simple 6xamplei ; ". i. ..; , ' , 

- .: tl 0]

Explain the need of logical fault models in digital circuit testing. Discuss in detail, the
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